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Rearranging Fractions 

 

Did you know? 

 

 

 

 

 

 
 

 

 

 

  

Comparing Fractions 

To order fractions you can compare the product of their diagonals 

If fractions are equivalent then the product of their diagonals will always be equal! 
 
How could you use this to help you when rearranging or solving equations involving fractions? 
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Fractions 1  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Fractions 2  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

1. Rewrite the formula to make time 
the subject 

         𝑆𝑝𝑒𝑒𝑑 =
𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑡𝑖𝑚𝑒
 

 

 

2. Rearrange to make 𝑎 the subject    
𝑥

𝑦
=

𝑎

𝑏
 

 

3. Make 𝑥 the subject of 𝑡𝑎𝑛𝜃 =
𝑦

𝑥
 

 

 
4. These triangles are similar. 

Show that 𝑥 =
𝑐𝑏

𝑎
 

 

5. Make 𝑥 the subject of 𝑥 =
ℎ+𝑘

𝑎
 

 
 
 
 

6. Make 𝑥 the subject of 𝑥 + 𝑎 =
𝑥+𝑏

𝑐
 

                  
 
 

7. Make 𝑎 the subject of 
1−𝑎

1+𝑎
=

𝑥

𝑦
 

 
 

8. Make 𝑦 the subject of 𝑦(√3 + √2) = 𝑥 

And write in the form 𝑦 = 𝑥(√𝑎 + √𝑏) 
 

1. Make 𝑥  the subject of 𝑏𝑐 =
𝑥

𝑎
 

 
 

2. Make 𝑒 the subject of 𝑥 =
𝑦

𝑒2 

 
 

3. Write 𝑎 in terms of 𝑥, 𝑦, 𝑧 and 𝑏. 
𝑏−𝑥𝑎

𝑧
= 𝑦 

 

4. Make  𝑣 the subject 𝐶 =
𝑣2−𝑡𝑎

𝑥
 

 
 

5. Rearrange to make 𝑥 the subject of 
2

𝑥
+ 5 = 6𝑦 

 
6. Make 𝑥 the subject of 

                 4𝐹 = 𝐹 +
𝑎

𝑦+𝑥
 

 

7. Make  𝑦 the subject  of 

√
𝑚(𝑦 + 𝑎)

𝑦
= 𝑦  

8. A cylinder has a radius 3 cm and 
height ℎ cm. The total surface area 

is 30𝑥 𝑐𝑚2  
Find an expression for surface area 
and write ℎ in terms of 𝑥 and 𝜋  
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Wrong Steps 

Each expression has been written in different ways 

 

◼ Which are not correct rearrangements? 

◼ Can you explain what’s gone wrong? 
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Prove it 
 
 

Using your rearranging skills can you prove each of the following 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

If                    𝒂 =
𝒃

𝒃+𝒄
 

Show that    
𝒂

𝟏−𝒂
=

𝒃

𝒄
 

 

𝑛(𝑛−1)

2
+

𝑛(𝑛+1)

2
   is a square number 

 

2𝑥 + 3

4
 −

3𝑥 − 2

3
+

1

6
=

19 − 6𝑥

12
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Missing Steps 

Complete the steps and fill in the blanks to find an expression for the area of triangle ABC

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1.   On the diagram draw a perpendicular line from A  to BC  

2.   Label the perpendicular line,  ℎ ℎ 

3.   Find an expression for the perpendicular height, ℎ 

4. Write down the expression for the base of the triangle  

5. Write down an expression to find the area of this triangle using your expressions for 
𝑏𝑎𝑠𝑒 and 𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 ℎ𝑒𝑖𝑔ℎ𝑡 

ℎ =   
 
 

 

𝑏𝑎𝑠𝑒 =    

𝑎𝑟𝑒𝑎 =   
 

 
 

 

 

Hint: you might 
want to use some 
trigonometry here 


